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[ INTRODUCTION TO PROGRAMMING |

(Theory : Marks - 40)

Group-A
Answer any three of the following questions : 12x3=36

Define Conditional operator with example. What is the difference between i++ and ++i?
What do you mean by the operator precedence and associativity in C?
4+3+5

State the difference between ‘=" and ‘==’ operators. What do you mean by the switch
case? What is the value of a C code m = (6 == 2*5 —4)? (5) : (10); What are the use
of a logical operators in C? Which logical operator has the highest priority amongst
the logical operators? 3+3+2+3+1




10.

Show the use of the continue statement in C with the help of a proper code example. State
two differences between continue and break statements in C. How many different compound
operators are available in C? Write a program to find the factorial of a number using do-
while loop. 4+2+1+5

What do you mean by nested loop? State two differences between a while and a do-while
loop. State the difference between the statements y = a + 1; y = ++a. Name the situation
where the do-while loop is more suitable to use. Write a program to find and print all prime
numbers between A and B, where A and B are two integer value entered by user, such that
A<B. 2+2+2+1+5

(a) Write the differences between procedures oriented programming and object oriented
programming.

(b) Explain the logical operators with example. 6+6

State the features of constructor in C++. What is the need for parameterized constructor?
Show with the help of an example how you can have a default constuctor and a
parameterized constructor in the same class in C++. What is destructor? What do you

mean by the term ‘function signature’? 3+2+5=+1+1
Group-B

Answer any two of the following questions : 2x2=4

What is function overloading?

What is library function? Give some examples.
What is identifier?

‘What is recursion?
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(Practical : Marks - 20)
Answer any one of the following questions :
Write a program to find greatest of three numbers.
Write a program to print first ten natural numbers.

Write a program to print first ten even and odd numbers.
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